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QUESTION 1

Which configuration file would be edited to change default options for the OpenSSH server? 

A. /etc/ssh/sshd_config 

B. /etc/ssh/ssh 

C. /etc/ssh/server 

D. /etc/ssh/ssh_config 

E. /etc/ssh/ssh_server 

Correct Answer: A 

 

QUESTION 2

Which of the following IPv4 networks are reserved by IANA for private address assignment and private routing?
(Choose THREE correct answers.) 

A. 127.0.0.0/8 

B. 10.0.0.0/8 

C. 169.255.0.0/16 

D. 172.16.0.0/12 

E. 192.168.0.0/16 

Correct Answer: BDE 

 

QUESTION 3

What is the command to delete the default gateway from the system IP routing table? (Choose TWO correct answers.) 

A. route del default 

B. ifconfig unset default 

C. netstat -r default 

D. ip route del default 

E. sysctl ipv4.default_gw=0 

Correct Answer: AD 
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QUESTION 4

Which of the following commands can be used to display the local routing table? (Choose TWO correct answers.) 

A. ifconfig 

B. dig 

C. netstat 

D. route 

E. trackroute 

Correct Answer: CD 

 

QUESTION 5

The system\\'s timezone may be set by linking /etc/localtime to an appropriate file in which directory? (Provide the full
path to the directory, without any country information) 

A. /usr/share/zoneinfo/ 

Correct Answer: A 

 

 

QUESTION 6

What of the following can be done by the command ifconfig? (Choose TWO correct answers.) 

A. Set a network interface active or inactive. 

B. Specify the kernel module to be used with a network interface. 

C. Allow regular users to change the network configuration of a network interface. 

D. Change the netmask used on a network interface. 

E. Specify which network services are available on a network interface. 

Correct Answer: AD 

 

QUESTION 7

Which command, depending on its options, can display the open network connections, the routing tables, as well as
network interface statistics. (Specify ONLY the command without any path or parameters.) 

A. netstat -or- /bin/netstat -or- ss -or- /usr/bin/ss 

Correct Answer: A 

LX0-104 PDF Dumps | LX0-104 Study Guide | LX0-104 Braindumps                                3 / 6

https://www.leads4pass.com/lx0-104.html
https://www.leads4pass.com/lx0-104.html
https://www.leads4pass.com/lx0-104.html


https://www.leads4pass.com/lx0-104.html
2024 Latest leads4pass LX0-104 PDF and VCE dumps Download

 

 

QUESTION 8

What is NTP? 

A. A more secure protocol replacement for FTP. 

B. A protocol for synchronizing time on computers. 

C. A routing aid for finding next hops on a network. 

D. A simple tunneling protocol for computers behind firewalls. 

Correct Answer: B 

 

QUESTION 9

What is true about UIDs and GIDs? 

A. UIDs and GIDs share a common number space. Each time a new user or group is created, the next free ID is
assigned. 

B. The first four digits of each UID are the GID of the primary group of that user. 

C. The GID of a group is always the sum of the UIDs of its members. 

D. The number space is split up. UIDs usually reside in the range from 0 to 32767 while GIDs reside in the range from
32768 to 65535. 

E. There are distinct number spaces for UIDs and GIDs, i.e. the same number may be used as both UID and a GID. 

Correct Answer: E 

 

QUESTION 10

Which of the following is a legacy program provided by CUPS for sending files to the printer queues on the command
line? 

A. lpd 

B. lpp 

C. lpq 

D. lpr 

Correct Answer: D 
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QUESTION 11

On a Linux system with shadow passwords enabled, which file in the file system contains the password hashes of all
local users? (Specify the full name of the file, including path.) 

A. /etc/shadow 

Correct Answer: A 

 

 

QUESTION 12

In order to discover the link layer address of the device that owns a specific IPv4 or IPv6 address, which mechanism is
used? 

A. Both IPv4 and IPv6 use ARP. 

B. Both IPv4 and IPv6 use Neighbor Discovery. 

C. IPv4 uses ARP while IPv6 uses Neighbor Discovery. 

D. IPv4 uses Neighbor Discovery while IPv6 uses ARP. 

E. Both IPv4 and IPv6 can use either ARP or Neighbor Discovery depending on the network. 

Correct Answer: C 

 

QUESTION 13

Which of the following are operators used for comparison by the test command? (Choose two correct answers.) 

A. equals 

B. = 

C. –is 

D. –eq 

E. null 

Correct Answer: BD 

 

 

QUESTION 14

Which of the following details can be found in an entry of a user specific crontab? (Choose two correct answers.) 

A. The verbal description of the job. 
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B. The syslog facility to where the output of the job should be sent. 

C. The time when the cron job should run. 

D. The command that should be started by the cron job. 

E. The name of the user which should run the job. 

Correct Answer: CD 

 

QUESTION 15

What word is missing from the following SQL statement? update tablename______ fieldname= `value\\' where id=909;
(Please specify the missing word using lower\_case letters only.) 

A. set 

Correct Answer: A 
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